PRODUCT CUT SHEET "@“ECOFasten“

For Installers. By Installers.

PART NUMBER DESCRIPTION
3014011 SIMPLEBLOCK-U MOUNT AL

ITEM NO. DESCRIPTION

1 SIMPLEBLOCK-U-AL-SUB-ASSEMBLY
2 BOLT, HEX, 5/16-18 UNC-2A X 1.0, LOCK
3 SS SERRATED FLANGE LOCK NUT, 5/16-18

1) SIMPLEBLOCK-U-AL-SUB-ASSEMBLY

<—1.354—‘

MATERIAL ALUMINUM
FINISH MILL

REV: CS-2

LSS A S A S S A A S A S S S AL S A A S A S S S S A A A



Ag

PRODUCT CUT SHEET -EcOFasten

v For Installers. By Installers.

2) BOLT, HEX, 5/16-18 UNC-2A X 1.0, LOCK

. o 1.00
7 HEAD [25.4]
[12.7

MATERIAL  [STAINLESS STEEL
FINISH MILL

3) SS SERRATED FLANGE LOCK NUT, 5/16-18

LLL

1
||

.28

MATERIAL  |STAINLESS STEEL
FINISH MILL

REV: CS-2

LSS A S A S S A A S A S S S AL S A A S A S S S S A A A



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4

	Sheet2
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12


